(sEERNTELSHERERER]
SH2HEE NHESFOMREREEEFIBRER(WETAXMAR) HETH A - ERAIANRE

B#K1—B

Ly = | = = L, FE1 rH,H & [a] - i B 5 s H B3 T—:
TisiE INRAE INEIE S e EER R | B/NEIE S Ee R ggﬂ’% f@ﬁg‘%ﬁffg% j'“’% EXT—>3 -
FhEE — FhlEE — % R IL—TR— ENniE F — RETER= — = ” )
HABEZATR—L (FHEEZAR—L | EEER TI—TR—L BENEFEM = (KRB - TS5 ot
EjogA No. THHET# 4 839F+H 839FH 839F+H 839FH 839F+H 14,00q=FH 4,200_=FFH R4S D 1/2
X EEH X EEH XEHEEH XEEH XEHEEH X M ER 21 x i E%RE ”
EEH SHXE |TEH HXE %ﬁé%z FXE (TEH HxE féég& EXE (RERH BXE (BRI BXE O (RRH BHXE FEER B Fl=F- BRE
Fi= 1 FEH 300 251,700 0 27 22,653 0 0 2 28,000 0 0 8 327 302,353
2 Ll 0 0 9 7,551 18 15,102 9 7,551 2 28,000 0 1 15,852 6 36 74,056
REEE] 3 AR 0 24 20,136 5 4,195 0 0 0 0 0 2 29 24,331
4 mfE™ 110 92,290 0 0 0 0 0 0 0 1 110 92,290
5 /N=N 7] 0 0 0 0 13 10,907 0 0 0 2 13 10,907
BEILER
6 amh 0 0 9 7,551 36 30,204 9 7,551 2 28,000 7 29,400 0 13 54 102,706
7 B ETT 0 0 9 7,551 0 0 0 0 0 1 9 7,551
8 k2™ 0 0 0 36 30,204 0 0 0 0 2 36 30,204
ENFE 9 J\#EH 0 0 9 7,551 0 0 0 0 0 1 9 7,551
10 FN#E™ 0 0 9 7,551 0 0 0 0 0 1 9 7,551
11 =Bt 0 0 9 7,551 0 0 0 0 0 1 9 7,551
12 $kFh 0 0 9 7,551 9 7,551 0 0 0 0 2 18 15,102
EEGER] 13 BT 0 0 9 7,551 27 22,653 0 1 14,000 0 0 4 36 44,204
14 M EETH 0 0 0 18 15,102 0 1 14,000 0 0 2 18 29,102
15 BE&T™ 0 0 0 18 15,102 0 1 14,000 0 0 2 18 29,102
L EE 16 | XK#HEBES 0 0 0 0 7 5,873 0 0 0 1 7 5,873
Sl 17 AN 0 29 24,331 0 0 9 7,551 0 0 0 2 38 31,882
18 WIHm 0 0 0 9 7,551 0 0 0 0 1 9 7,551
19 REZES 0 29 24,331 18 15,102 18 15,102 0 0 0 0 5 65 54,535
20 EZEt 0 0 0 0 0 1 14,000 0 0 1 0 14,000
BiE
21 =& 0 0 0 0 0 1 14,000 0 0 1 0 14,000
22 Hh4rETth 0 0 0 0 7 5,873 0 0 0 1 7 5,873
Gl 23 HwESh 0 39 32,721 27 22,653 36 30,204 27 22,653 2 28,000 0 0 11 129 136,231
5123 THHETHF 410 343,990 121 101,519 149 125,011 225 188,775 81 67,959 13 182,000 7 29,400 1 15,852 7 986 | 1,054,506




